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7-7 Operations on Functions
f(x) = 3% + 7x

gx)=2%-x-1
f-1)= 3(-N) +7(2) = -y
ag(-1)= a_

f(x) = 3% + 7x

g(x)=2®-x-1
Difference (f-g)x =f(x) - g(x)

(F- g = 3y —(2x" =)

— 2% + %4
=X *%x*\
f(x) = 3% + 7x
g(x) = 2 - x - 1 A& #0
Quotient
[l)x= 33(2*7\/
g
2x*-x-\ #0

(2x »\)(M) &0
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f(x) = 3% + 7x

gx)=2%-x-1
SUM  (f+g)x = f(x) + g(x)

(+ 9= 37,17, x)
6).(1 +(px‘\

f(x) = 3% + 7x

gx)=2x%-x-1

Product (feg)x = f(x) eg(x)

2y - 3x% =3x*
sMx3 =7yt T IX

= Gx* g -0 -Ix

Composition of Functions
f(x) =3x2-2x + 1

gx)=x-4
[fogl(x) =f[g(x)]

[90fl(x) =g [f(x)]
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Composition of Functions Composition of Functions
f(x) =3x2-2x + 1 f(x) =3x2-2x + 1
gx)=x-4 gx)=x-4
[fodl3) = 24 [fogf(7) = -4
ata e 3t T CC3) =22
p 3EY - Y- +)

3 +2%)

)06

Composition of Functions Composition of Functions
f(x) = 3x2-2x + 1 f(x) = 3x2-2x + 1
g(x) =x-4 g(x)=x-4

[901(3) = ig) glf(2)] =
I

Composition of Functions Composition of Functions
f(x) = 3x2-2x + 1 f(x) =3x2-2x + 1
g(x) =(x - 4 g(x) = x - 4
[fod](x) =f[g(x)] [90f1(x) =g [f(x)]
(x-d)

= (x4’ -2(x-4)+)
30y -y i) = 2(x -4 +)

=Yy -26% 57
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Sets Sets
f={(2,6) (9,4) (7,7) (0, -1)} f={(2,6) (9,4) (7,7) (0, -1)}
9 ={(7,0) (:1,7) (4,9) (8,2)} g={(7,0) (-1,7) (4,9) (8,2)}

fog-= 5(7;() <\\\7)<4‘4>,(<§Q€ gof =

DO:
f={(8,9) (6,4) (10,9) (12,6)} Hw
_ p387-388
9={65@0 65 612) 17, 20, 23-310dd
35, 41,45

fog=
gof =
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